# Project Name- Oak Park Green Streets Urban Retrofit PH 2 Spec. No. WP19-11

Abstract of Bids opened on: Dec. 20, 2019

# ENGINEER'S ESTIMATE: \$580,000.00

LOW BIDDER -	TOTAL
Cal Prime, Inc. Bakersfield, CA 93314	618,091.00
2nd Bidder -	TOTAL
Toro Enterprises, Inc. Oxnard, CA 93031	807,218.00
3rd Bidder -	TOTAL
R-Help Construction Co., Inc. Newbury Park, CA 91320	818,340.25
4th Bidder -	TOTAL
GMZ Engineering, Inc. Westlake Village, CA 91362	830,201.00
5th Bidder -	TOTAL
Lee Construction Cp. Simi Valley, CA 93063	850,253.00
6th Bidder -	TOTAL
Travis Ag Construction, Inc. Ventura, CA 93007	933,469.00
7th Bidder -	TOTAL
Blois Construction, Inc. Oxnard, CA 93030	1,160,281.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Sal Diaz-Rubin

Bids opened on: Dec. 20, 2019				ENGINEER'S	ESTIMATE	LOW BIDDER	
Project Name- Oak Park Green Streets Urban Retrofit PH						Cal Prime, Inc.	
						3152 Enos Lane	
						Bakersfield, CA 93	314
	Spec. No. WP19-11					661-679-6818 FA	X 661-379-8830
ITEM	1777.4	LINUT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
NO.	ITEM	UNIT		34,999.00	34,999.00	25.000.00	25,000.00
	Mobilization	LS	1	15,000.00	15,000.00	10,000.00	10,000.00
	Traffic Control	LS	1	10,000.00	10,000.00	5,000.00	5,000.00
	Water Pollution Control	LS	1	10,000.00	10,000.00	20,000.00	20,000.00
	Demolition	LS	·	•	4,500.00	20,000.00	33,000.00
	Earthwork	CY	165	27.27 5,000.00	5,000.00	10,000.00	10.000.00
	Excavation Safety	LS	1 210	5,000.00 60.00	12,600.00	10,000.00	21,000.00
	8-inch SDR 35 PVC Storm Drain	LF				1,000.00	16,000.00
	Connection to Existing Storm Drain or Catch Basin	EA	16	3,000.00	48,000.00	1,400.00	12,600.00
	Concrete Local Depressions	EA	9	4,000.00	36,000.00	1,400.00	8,540.00
כ	Asphalt Concrete	SF	610	11.15	6,800.00		5,000.00
1	Concrete Parkway Drain	EA	2	2,500.00	5,000.00	2,500.00	
2	Concrete Sidewalk	SF	675	7.41	5,000.00	20.00	13,500.00
3	Concrete Curb and Gutter	LF	50	30.00	1,500.00	82.00	4,100.00
4	Concrete Curb	LF	70	20.00	1,400.00	55.00	3,850.00
5	4'x8' Modular Wetland Vault Unit	EA	2	25,000.00	50,000.00	30,000.00	60,000.00
3	4'x8' Modular Wetland Curb Unit	EA	2	25,000.00	50,000.00	30,000.00	60,000.00
7	4'x19' Modular Wetland Vault Unit	EA	1	42,000.00	42,000.00	50,000.00	50,000.00
8	4'x17' Modular Wetland Curb Unit	EA	2	40,000.00	80,000.00	40,000,00	80,000.00
9	4'x21' Modular Wetland Vault Unit	EA	1	45,000.00	45,000.00	50,000.00	50,000.00
0	8'x16' Vegetated Modular Wetland Vault Unit	EA	1	65,000.00	65,000.00	70,000.00	70,000.00
1	4'x8' Vegetated Modular Wetland Vault Unit	EA	1	25,000.00	25,000.00	30,000.00	30,000.00
2	Fiberglass DVERT Trougt	EA	6	1,000.00	6,000.00	1,000.00	6,000.00
3	Vault Rock Bedding	CY	30	66.67	2,000.00	100.00	3,000.00
4	Existing Utility Protections and Adjustments	LS	1	12,000.00	12,000.00	15,000:00	15,000.00
5	Landscaping and Irrigation	LS	1	6,200.00	6,200.00	5,000.00	5,000.00
6	Landscape Maintenance	LS	1	1,000.00	1,000.00	1,500.00	1,500.00
.7	Release on Contract	LS	1	1.00	1.00	1.00	1.00
•	TOTAL			-	580,000.00	8	618,091.00

	ened on: Dec. 20, 2019	2nd Bidder		3rd Bidder		
Project Name- Oak Park Green Streets Urban Retrofit PH		Toro Enterprises, Inc.		R-Help Construction Co., Inc.		
		PO Box 6285		3255 Grande Vista	3255 Grande Vista Drive	
		Oxnard, CA 93031		Newbury Park, CA	Newbury Park, CA 91320	
	Spec. No. WP19-11	805-483-4515 FA	X 805-483-2001	805-499-5112 FAX	805-375-2577	
ITEM				LINUT PRIOT	TOTAL	
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
	Mobilization	41,680.00	41,680.00	46,200.00	46,200.00	
!	Traffic Control	51,720.00	51,720.00	55,000.00	55,000.00	
	Water Pollution Control	9,400.00	9,400.00	27,500.00	27,500.00	
	Demolition	28,200.00	28,200.00	40,000.00	40,000.00	
	Earthwork	187.00	30,855.00	300.00	49,500.00	
	Excavation Safety	11,400.00	11,400.00	17,500.00	17,500.00	
	8-inch SDR 35 PVC Storm Drain	140.00	29,400.00	90.00	18,900.00	
	Connection to Existing Storm Drain or Catch Basin		35,600.00	1,750.00	28,000.00	
	Concrete Local Depressions	3,110.00	27,990.00	2,475.00	22,275.00	
D	Asphalt Concrete	20.00	12,200.00	29.50	17,995.00	
1	Concrete Parkway Drain	4,175.00	8,350.00	5,500.00	11,000.00	
2	Concrete Sidewalk	19.00	12,825.00	16.75	11,306.25	
3	Concrete Curb and Gutter	72.00	3,600.00	100.00	5,000.00	
4	Concrete Curb	50.00	3,500.00	70.00	4,900.00	
5	4'x8' Modular Wetland Vault Unit	34,955.00	69,910.00	30,100.00	60,200.00	
6	4'x8' Modular Wetland Curb Unit	32,970.00	65,940.00	30,100.00	60,200.00	
7	4'x19' Modular Wetland Vault Unit	53,000.00	53,000.00	48,100.00	48,100.00	
8	4'x17' Modular Wetland Curb Unit	46,385.00	92,770.00	48,100.00	96,200.00	
9	4'x21' Modular Wetland Vault Unit	55,600.00	55,600.00	48,100.00	48,100.00	
0	8'x16' Vegetated Modular Wetland Vault Unit	72,340.00	72,340.00	75,200.00	75,200.00	
1	4'x8' Vegetated Modular Wetland Vault Unit	35,765.00	35,765.00	30,100.00	30,100.00	
2	Fiberglass DVERT Trougt	4,970.00	29,820.00	3,050.00	18,300.00	
3	Vault Rock Bedding	158.00	4,740.00	225.00	6,750.00	
4	Existing Utility Protections and Adjustments	11,700.00	11,700.00	5,000.00	5,000.00	
5	Landscaping and Irrigation	7,187.00	7,187.00	10,666.00	10,666.00	
6	Landscape Maintenance	1,725.00	1,725.00	4,447.00	4,447.00	
27	Release on Contract	1.00	1.00	1.00	1.00	
•	TOTAL		807,218.00		818,340.25	

Bids or	ened on: Dec. 20, 2019	4th Bidder			5th Bidder			
Project Name- Oak Park Green Streets Urban Retrofit PH		GMZ Engineering, Inc.			Lee Construction Cp.			
		5656 Lindero Canyon Road Suite 430			4288 Adam Ro	4288 Adam Road		
			Westlake Village, CA 91362		Simi Valley, C/	Simi Valley, CA 93063		
	Spec. No. WP19-11	818-699-6440 FAX 818-699-6475			805-522-5195	805-522-5195 FAX 805-522-5495		
ITEM	<del></del>							
NO.	ITEM	UNIT PRICE		TOTAL	UNIT PRICE		TOTAL	
1	Mobilization	45,000.00		45,000.00	24,100,0		24,100.00	
2	Traffic Control	30,000.00		30,000.00	31,700.0		31,700.00	
3	Water Pollution Control	30,000.00		30,000.00	5,000.0		5,000.00	
4	Demolition	50,000.00		50,000,00	41,975.0		41,975.00	
5	Earthwork	210.00		34,650.00	315.0		51,975.00	
6	Excavation Safety	30,000.00		30,000.00	15,000.0		15,000.00	
7	8-inch SDR 35 PVC Storm Drain	100.00		21,000.00	230.0		48,300.00	
8	Connection to Existing Storm Drain or Catch Basin	500.00		8,000.00	1,200.0		19,200.00	
9	Concrete Local Depressions	2,500.00		22,500.00	1,500.0		13,500.00	
10	Asphalt Concrete	30.00		18,300.00	12.0		7,320.00	
11	Concrete Parkway Drain	2,500.00		5,000.00	8,900.0		17,800.00	
12	Concrete Sidewalk	30.00		20,250.00	10.0		6,750.00	
13	Concrete Curb and Gutter	100,00		5,000.00	85.0		4,250.00	
14	Concrete Curb	100.00		7,000.00	75.0	0	5,250.00	
15	4'x8' Modular Wetland Vault Unit	35,000.00		70,000.00	40,204.0	0	80,408.00	
16	4'x8' Modular Wetland Curb Unit	40,000.00		80,000.00	41,500.0	D	83,000.00	
17	4'x19' Modular Wetland Vault Unit	40,000.00		40,000.00	56,600.0	0	56,600.00	
18	4'x17' Modular Wetland Curb Unit	45,000.00		90,000.00	51,600.0	0	103,200.00	
19	4'x21' Modular Wetland Vault Unit	50,000.00		50,000.00	59,506.0	0	59,506.00	
20	8'x16' Vegetated Modular Wetland Vault Unit	50,000.00		50,000.00	79,576.0	0	79,576.00	
21	4'x8' Vegetated Modular Wetland Vault Unit	35,000.00		35,000.00	40,092.0	0	40,092.00	
22	Fiberglass DVERT Trougt	5,000.00		30,000.00	1,300.0	D	7,800.00	
23	Vault Rock Bedding	200.00		6,000.00	550.0	0	16,500.00	
24	Existing Utility Protections and Adjustments	25,000.00		25,000.00	20,000.0	0	20,000.00	
25	Landscaping and Irrigation	25,000.00		25,000.00	7,950.0	0	7,950.00	
26	Landscape Maintenance	2,500.00		2,500.00	3,500.0		3,500.00	
27	Release on Contract	1.00	-	1.00	1.0	0	1.00	
	TOTAL			830,201.00			850,253.00	

Bids opened on: Dec. 20, 2019		6th Bidder		7th Bidder		
Project Name- Oak Park Green Streets Urban Retrofit PH		Travis Ag Constru	ction, Inc.	Blois Construction, Inc.		
		PO BOX 4666		3201 Sturgis Road		
		Ventura, CA 9300	7	Oxnard, CA 93030		
	Spec. No. WP19-11	805-647-7211 FA	X 805-647-3423	805-656-1432 FAX 805-485-0338		
ITEM						
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
	Mobilization	36,113.00	36,113.00	58,500.00	58,500.00	
2	Traffic Control	64,465.00	64,465.00	61,000.00	61,000.00	
3	Water Pollution Control	14,470.00	14,470.00	9,700.00	9,700.00	
4	Demolition	46,010.00	46,010.00	94,000.00	94,000.00	
5	Earthwork	321.00	52,965.00	720.00	118,800.00	
3	Excavation Safety	46,364.00	46,364.00	32,000.00	32,000.00	
7	8-inch SDR 35 PVC Storm Drain	145.00	30,450.00	94.00	19,740.00	
3	Connection to Existing Storm Drain or Catch Basin	3,299.00	52,784.00	1,425.00	22,800.00	
)	Concrete Local Depressions	2,010.00	18,090.00	4,400.00	39,600.00	
0	Asphalt Concrete	79.00	48,190.00	68.00	41,480.00	
1	Concrete Parkway Drain	4,160.00	8,320.00	3,800.00	7,600.00	
2	Concrete Sidewalk	11.00	7,425.00	32.00	21,600.00	
13	Concrete Curb and Gutter	62.00	3,100.00	96.00	4,800.00	
14	Concrete Curb	50.00	3,500.00	43.00	3,010.00	
15	4'x8' Modular Wetland Vault Unit	28,390.00	56,780.00	37,000.00	74,000.00	
16	4'x8' Modular Wetland Curb Unit	29,282.00	58,564.00	35,000.00	70,000.00	
17	4'x19' Modular Wetland Vault Unit	57,177.00	57,177.00	59,000.00	59,000.00	
18	4'x17' Modular Wetland Curb Unit	45,904.00	91,808.00	53,000.00	106,000.00	
19	4'x21' Modular Wetland Vault Unit	54,855.00	54,855.00	62,500.00	62,500,00	
20	8'x16' Vegetated Modular Wetland Vault Unit	73,859.00	73,859.00	86,000.00	86,000.00	
21	4'x8' Vegetated Modular Wetland Vault Unit	34,440.00	34,440.00	39,000.00	39,000.00	
22	Fiberglass DVERT Trougt	3,430.00	20,580.00	1,900.00	11,400.00	
23	Vault Rock Bedding	420.00	12,600.00	335.00	10,050.00	
23 24	Existing Utility Protections and Adjustments	34,451.00	34,451.00	92,000.00	92,000.00	
24 25	Landscaping and Irrigation	4,141.00	4,141.00	12,000.00	12,000.00	
	Landscaping and irrigation	1,967.00	1,967.00	3,700.00	3,700.00	
26 27	Release on Contract	1.00	1.00	1.00	1.00	
<u> </u>	TOTAL		933,469.00		1,160,281.00	

Spec. No.WP19-11

#### **PROPOSAL**

Contractor's Name	Cal Prime, Inc.	
_		

### **List of Subcontractors**

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Cen Cal Construction	962895	34762 Lencioni Ave Bakersfield CA 93308	9,11-14 Concrete

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Spec. No.WP19-11

# **PROPOSAL**

Contractor's Name TORO ENTERPRISES, INC.

# **List of Subcontractors**

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Benner and Carpenter	2.5, 7998	506 E main Street Santa Paula, C.A., 93060	Survey
Green Coast Landscapes	1009698	506 E main Street Santa Paula, CA, 93060 PO Box 430, Camarillo CA, 93011	2 and scape
	3		
	а		

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.